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And one who enters into drawn waters — P2INR 2522 1217 1R XM
with his head and the majority of his body

Overview

The 71w cites TPIRW 2°12 12177 WK X277 as one of items which are 7m0 H0w. This
191 WK X277 is in a case where he was Xnv and was 2210 and afterwards he was X2
191 wx1.! Our MpoIn explains why it was necessary to mention this case as a
distinct category, when it was seemingly included in another category.

nooIn asks:
- 201 9120 NINY 1Y DI9%N ININN ON)

And if you will say; this rule is superfluous, since he is a 21 12w (which is
mentioned shortly in this 71w as one of those that are 72170 S019). This person is 72170 2019 even
without being 121 WK1 X3, since he is a 1" 7120 —

N1B0IN answers:
912105 >MNIY 1Y HDID IWNY 25990 199ORT N33 NPT 1Y Y

And one can say; that it was necessary to mention this case of 131 WX X2 since
there is a difference, for in a case of WX1 X277 he is 72170 %00 even after the sun
set, until he is Y21 again.

Summary
One who is 2IRW 2°12 1217 WK X2 1S 721N 5019 even after wnw 2v7.

Thinking it over
The rule is O 21207 P 7570 NP2 PRWH XPVA I1907 DR 201971 22.* Therefore it was

necessary to mention that 191 WX X277 is 71707 IR 2019, since therefore he will be
7700 DAY PRwn Rnvn, which as a 21° 912w he will not. What is mpoIn question‘?!5

' See xam "7 "

2 A ov 712u is one who was Xnv and went to the 7p» but the sun did not set yet (after his going to the mp»). The 7awn
shortly tells us that a 0 2120 is 7170 P019. This 121 WX X2 is a 01 2120 (see ‘Overview’), why mention that he was
121 1WX7 X2, even without the 121 WX X2 he is 77170 7019 as a 0 2120.

3 By going 121 WX into 2°2Ww o™ he invalidates the previous 72720, See the X723 on X, 7.

*1"n n"s 779, See previous aMwm 7"7 "0 TIE footnote # 1.

> See *n Yw naw.
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